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Display Number Panel: Yes

Group All Questions: No
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Sub-Section Id: 1679431179
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 16794318573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Read the following information carefully and answer the question given below:

“a’ stands for *=";
“ B * stands for © =7;

“ 4 ' stands for “<°;

Ifém & 5nand 2n f 3p. then:
Options:
; o 4mpB 3p

2md p

P2
-

4m a 3p

Question Number : 1 Question Id : 16794318573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| ¢ 4m B 3p
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5 % 4ma 3p

Question Number : 2 Question Id : 16794318574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the similar pair for the following.

. T

Options:

> o 9:40.5
5 % 11:61

i® 1ZETES

Question Number : 2 Question Id : 16794318574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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i s T
Options:

, % 8:34

- v 9:405
> % 11 : 61
4% 12 :715

Question Number : 3 Question Id : 16794318575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a class, there are 18 girls who are over 150 cm tall. If these constitute three fourths of the girls and the total number
of girls is two-thirds of the total number of students in the class. what is the number of boys in the class?

Options:

iy



z ¢ 12

Question Number : 3 Question Id : 16794318575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 * 8
> &R -10
z o 12

g4 ® 15

Question Number : 4 Question Id : 16794318576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Reaching the place of meeting 20 minutes before 9.50 hours Kamal found himself 30 minutes earlier than the man who
came 40 minutes late. What was the scheduled time of the meeting?

Options:
1 ® 9.10

5 o 920

Question Number : 4 Question Id : 16794318576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 9.10




5 ¢ 9.20
2 % 9.30

L = 945

Question Number : 5 Question Id : 16794318577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pointing towards Nithin, Sathya said. “He is the son of only son of my grandfather”. How is the boy related to Sathya?

Options:
1 « Brother

- % Father
= % Son

4 % Uncle

Question Number : 5 Question Id : 16794318577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

L v T

Question Number : 6 Question Id : 16794318578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A cube is coloured red on all faces. It is cut into 64 smaller cubes of equal size. How many cubes have no face
coloured?

Options:
1 ® 4



Question Number : 6 Question Id : 16794318578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.$4

> 8
3&10

g 16

Question Number : 7 Question Id : 16794318579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
You are given a statement and four Arguments. Choose the comment about Argument from the given options below.

Statement:
Should there be compulsory military training for each adult in our country?

Argument:

I. Yes. This is the only way to build a strong and powerful nation.

IT. Yes. This is the only way to impart discipline to the young generation.

ITI. No. Compulsion always leads to repulsion.

I'V. No. This goes against the basic democratic right of an individual to choose his/her own programme.
Options:

; = Only Arguments I and IT are strong

> w Only Arguments II and III are strong

5  Only Arguments III and IV are strong

4 w Allare strong



Question Number : 7 Question Id : 16794318579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 16794318580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain language, COUNTRY is written as DQXRYXF. How is MINISTER written in that code?

Options:
, « NKQMXYLZ

» x NKQMXZLY

. x NKQMXYLY

4« NEQMXZIL.Z

Question Number : 8 Question Id : 16794318580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

;% NKQMXYLZ
» » NKQMXZLY
-« NKQMXYLY

4 v NKQMXZLZ

Question Number : 9 Question Id : 16794318581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
You have made some silly mistakes which have been pointed out to you. You will

Options:
1 #% feel miserable

> « feel thankful

o % getangry

4 = laughit away

Question Number : 9 Question Id : 16794318581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 16794318582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Read the following information carefully and answer the question given below.

Vikram. Barani, Sakthi and David are to be seated in a row. But Sakthi and David cannot be together. Also, Barani
cannot be at the third place. If Vikram and Barani are together, then which of the following must be necessarily true?

Options:
; = Sakthiis at the first place

- = Sakthi is not at the first place

s  vikram is at the third place

4 = David is at the first place

Question Number : 10 Question Id : 16794318582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

frrafaflT FaaR F ouaes ue 3 A9 RU v w37 &7 337 &

TFn, s, afeT it sfas & s 9feg & doa1 21 o afeaT 3t 3f5s v mryr 78 &% e 2
ST HTET, FUAT S8 TF I A7 85 Tohal 21 3R Oy 3k av v oy &, & R=e@a J
T S T HET T T =Jge?

Options:

, » AT ET T W
o « BT T TIH W G 8
. v A O T W

., » S5 98 T W §

Question Number : 11 Question Id : 16794318583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the alternative which is closely resembles the mirror-image of the given combination.

YOUTH

Options:
1 % HTNOY

> % YOUTH



5 % HTNOL

4 « HTUOY

Question Number : 11 Question Id : 16794318583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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YOUTH
Options:

, » HTNOY
, « YOUTH
- « HTNOA

. v HTUOY

Question Number : 12 Question Id : 16794318584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How many meaningful English words can be formed from the 1%, 5t 7th and oth Jetters of the word PUNCTUATE
using them in different sequence only once?

Options:

1_&4-2

o o 3

M
b
e

e
b
LA

Question Number : 12 Question Id : 16794318584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1_-562



Question Number : 13 Question Id : 16794318585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the odd one from the following.

Options:
1 % Incense

> ® Aura

= o Small

4 R Aroma

Question Number : 13 Question Id : 16794318585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

79 ffr v # ¥ {ww 7 99 7w
Options:

{ ® B T
5 % FHTHSH

g_jw

Question Number : 14 Question Id : 16794318586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



You are given three statements and four conclusions. Choose the comment about conclusion from the given options
below.

Statement:
I. No office is school.
II. No school is house.
III. All colleges are offices.

Conclusions:

I. Some offices are colleges.
II. No house is office.

ITI. No school is college.

IV. All offices are colleges.

Options:

; = Only conclusion I follows

- = Only conclusions II and I'V follows

5 « Only conclusions I and III follow

4 % All follow

Question Number : 14 Question Id : 16794318586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 16794318587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

You are given a question and three statements I, IT and III. You have to decide whether the data provided in the
statements are sufficient to answer the question.

In which vear was Keshav born?

Statement:

I. Kesav is 6 vears older than Kumar.

II. Kumar’s brother was born in 1992.

IT1. Kesav’s brother is two vears vounger than Kumar’s brother who was 8 years younger than Kumar.

Options:
, = Data in statement I alone is sufficient to answer the question

- = Data in statement II alone is sufficient to answer the question

- » Both the statements I and II are necessary to answer the question

4 « Allthe statements I, IT and IIT are necessary to answer the question

Question Number : 15 Question Id : 16794318587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 16794318588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Anu is facing towards west and turns through 50° clockwise direction, again 180° clockwise direction and then turns
through 260° anti-clockwise direction. In which direction is she facing now?

Options:

1 « South-west

> #% North-west
%z % South

4 % North

Question Number : 16 Question Id : 16794318588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e &1 =gy uivad Rer & A § 3k a7 gEomaafar # 50° g7 e g, 5T g gfEorea far A
180° 3R R efdumaa fERm F 260° gw =dr &1 39 3T I8 B fr Fr v §7?

Options:

| CIETOT-ITeEs

> B drd{-qﬁﬂﬁ

3 ® aiﬁu

4@@3?'?

Question Number : 17 Question Id : 16794318589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Find the minimum number of straight lines required to make the following figure.

Options:
1. ® 12

o ® 16

3.;_;.#’1?

Question Number : 17 Question Id : 16794318589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 #® 12
o W 15
2 o 17

4 ® 19



Question Number : 18 Question Id : 16794318590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing number for the following.

1.9,25,49,81. 7
Options:
1 % 100

5 o121
5 % 112

4 % 144

Question Number : 18 Question Id : 16794318590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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18,25 49, 8% %
Options:

% 100
» « 121
s % 112

L % 144

Question Number : 19 Question Id : 16794318591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A is twice as old as B. Three years ago. A was three times as old as B. How old is A now?

Options:

LAy

; ® 5years

5 % 7 vears

- % 10 years



4 12 years

Question Number : 19 Question Id : 16794318591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

{ % 5 aW
5 % 799
5 % 10 a9
4w 12 99

Question Number : 20 Question Id : 16794318592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If A o B means ‘A is the daughter of B’; A P B means ‘A is the father of B’; A v B means ‘A is the mother of B’: A6 B
means ‘A is the brother of B’; Then in the expression K v L f M 6 N o P, how is K related to P?

Options:
1 % Mother

> o Mother-in-law
3 % Sister

4 % Sister-in-law

Question Number : 20 Question Id : 16794318592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Group Number : 2

Group Id: 167943695

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

GeTeral Awarensss

Section Id : 167943760
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 1679431180
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 16794318593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the followings is called as Lower House?

Options:

, = Rajya Sabha

- u Legislative Assembly

- % Legislative Council



4 « Lok Sabha

Question Number : 21 Question Id : 16794318593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4 W TET

Question Number : 22 Question Id : 16794318594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From which of the following Amendments Municipalities have been established?
Options:

g TS

gl
®

Question Number : 22 Question Id : 16794318594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4 % 759

Question Number : 23 Question Id : 16794318595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Number of seats in Legislative Council in Uttar Pradesh is;

Options:

4 « 100

Question Number : 23 Question Id : 16794318595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Seaaee @I U aRwe # Fo Ae T 7er gl
Options:

1 * ?5
> 36
z & ?8

4 « 100

Question Number : 24 Question Id : 16794318596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the President of the Fourth Buddhist Council held at Vaishali?
Options:

1 % Bhadrabahu
- % Sabakami
= o Vasumitra

4 % Mahendra



Question Number : 24 Question Id : 16794318596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 25 Question Id : 16794318597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was the ruling period of Raziya Sultana?

Options:
1 % 1230—1232
5 % 1236 —1240

s « 1236 —1239

4 % 1230-1236

Question Number : 25 Question Id : 16794318597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST Godd 7 JUTHe I %9 § F9 977

Options

% 1230 - 1232
. % 1236 - 1240
- v 1236 - 1239
4 % 1230 - 1236

Question Number : 26 Question Id : 16794318598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Who was the author of Sarvajanik Satya Dharma?
Options:
. Dadoba Pandurang

FI .

- u Gopalhari Deshmukh

- w Ishwar Chandra Vidyasagar

4 « Jyotiba Phule

Question Number : 26 Question Id : 16794318598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. -

, T 2T

2 % 399X ey CIEFR

4.9 3

Question Number : 27 Question Id : 16794318599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
As per the literacy rate 2011, what is the literacy rate of Arunachal Pradesh?

Options:

Question Number : 27 Question Id : 16794318599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| % 66.4%
» % 67.0%
2 v 65.4%

. % 66.1%

Question Number : 28 Question Id : 16794318600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which one of the given options is the only right bank tributary of Godavari River?
Options:

1 % Purna

- % Maner
5 « Manjira

4 % Sabri

Question Number : 28 Question Id : 16794318600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 29 Question Id : 16794318601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
El-Nino is a which type of Ocean current?



Options:
1 % Cold ocean current

o «F Warm ocean current

5 = Strong equatorial current

4 # Weak equatorial current

Question Number : 29 Question Id : 16794318601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 16794318602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When a ray of light travels from air to glass slab and strikes the surface of separation at 90°. then it

Options:
1 % Bends towards the normal

- » Bends away from the normal

3 o Passes unbent

4 = Passesin zigzag way

Question Number : 30 Question Id : 16794318602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 16794318603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The law of Octaves was given by
Options:

1 % Dobereiner

» « Newlands
z % Medelew

4 # Moseley

Question Number : 31 Question Id : 16794318603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT HE 3HTFed, & E=aar gl

Options:

Question Number : 32 Question Id : 16794318604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is an ore of aluminium.



Options:
; = Cyrolite

> o Bauxite
- % Haematite

4 % Barium

Question Number : 32 Question Id : 16794318604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
vegfATETs @ = ag (3N) #

Options:

| x WETETSE

& W ‘

Question Number : 33 Question Id : 16794318605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With regard to Cash Reserve Ratio (CRR) which of the following statements is correct?

1. CRR is the ratio (fixed by RBI) of the total deposits of a bank in India which is kept with the RBI in the form of
Cash.
2. At Present (March 2018) it is 4%.
Options:
, » lonly

- w 2only

= « 1 and 2 both

4 = None of the given options

Question Number : 33 Question Id : 16794318605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

5w 137 2 g
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Question Number : 34 Question Id : 16794318606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What does REER stands for?
Options:

, « Real Effective Exchange Rate

-~ = Regional Effective Exchange Rate

- u Required Effective Exchange Rate

4 = Re-effective Exchange Rate

Question Number : 34 Question Id : 16794318606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HAR.Z.3.3X (REER) & T A7 F4T 872

Options:

. v Te e e T
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Question Number : 35 Question Id : 16794318607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the Minimum support price of Tur (Arhar) in 2018-2019 season?

Options:
; # T 5610

> % T 5625
2 % T 5650

4 o T 5675

Question Number : 35 Question Id : 16794318607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2018-19 37 3 T (3NE) F +TAaH FAYF Hod T 7

Options:

% T 5610
. » T 5625
- « T 5650

. v T 5675

Question Number : 36 Question Id : 16794318608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following countries the inaugural summit meeting of BRIC (at present BRICS) was held?

Options:
1 % India

- % China
= « Russia

4 % DBrazil



Question Number : 36 Question Id : 16794318608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o #& & B9 &@ff #, BRIC (30 # BRICS) #7 g3 FFaaa do% Maed @ 75 off?

Options:
1 % #HRd

zwzﬁﬂ

443'5?]?4

Question Number : 37 Question Id : 16794318609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“Macha” is regional dance of which of the following states?

Options:
1 % Himanchal Pradesh

- % Maharastra
= # Andhra Pradesh

4  Madhya Pradesh

Question Number : 37 Question Id : 16794318609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘T Feafaiaa # ¥ 5F I8 & 897 907 82

Options:

i ® mqﬁﬂ

4 FEOES

Question Number : 38 Question Id : 16794318610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The 3™ Asian Para Games will be held in which of the following cities of Indonesia?

Options:
1 « Jakarta

- = Palembang

5 » DBandung

4 % Medan

Question Number : 38 Question Id : 16794318610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
araY v T @, SEmREr i FEaeg § ¥ T agw #§ e S Jeete

Options:

1_J3|7=F|!._-|E|'

4.*333@?

Question Number : 39 Question Id : 16794318611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
P.V Sindhu is associated with which of the following Sports?

Options:
1 % Tennis

- % Table tennis
= « Badminton

4 = Shooting

Question Number : 39 Question Id : 16794318611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

. Ry G & ¢ e 39 ¥ @eftg



Options:

1. % AR

- B mm

Question Number : 40 Question Id : 16794318612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who has been recently elected as the next President of Mexico?

Options:
, « Andres Manuel Lopez Obrador

- % Jose Eladio Alcain

5 = Angelica Rivera

4 = Felipe Calderon

Question Number : 40 Question Id : 16794318612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el & 7 0 Aftwsr & aprer ueeufa & &9 & wwfag G mar 22
Options:
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Arithrmetic Alality

Group Number : 3
Group Id: 167943696



Group Maximum Duration : 0

Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Ahility

Section Id : 167943761

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 19

Number of Questionsto be attempted: 19

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 1679431181
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 16794318613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
04.3%94.3-94,3x5.7+5.7 5.7

The value of 5 s 1s equal to:

A43XF43%9.43+0.57x0.57 %05
Options:
1.+ 10

> % 100
s % 1000

4 # 10,000

Question Number : 41 Question Id : 16794318613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
94 .3%94.3—94.3x5.7+5.7x5.7

9,43%9.43%5.43+0.57x0.57x0.57

FT AT SHS ST ¢

Options:

1« 10



. % 100
5 = 1000

. % 10,000

Question Number : 42 Question Id : 16794318614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The unit digit in (23)°* — (24)** + (37)"° is:
Options:

1.+ 0

| ]

Question Number : 42 Question Id : 16794318614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(23)%1 — (24)* + (37)*° & =FHS 3= ¢

Options:
1.¢ 0

Question Number : 43 Question Id : 16794318615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the sum of the digits of the least whole number which should be added to 52364 to make it perfect square
number?

Options:



z & 12

4« 14

Question Number : 43 Question Id : 16794318615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3H FgAGH U7 TEAT & I H AT F47 ¢ FE qUT 797 @ sA & v 52364 F Frer Aar =mge?
Options:

1 = 8
o R 10
ST ] 12

4 v 14

Question Number : 44 Question Id : 16794318616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The value of 0.854 + 0.23 — 0.68 is;

Options:

Question Number : 44 Question Id : 16794318616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

0.854+ 0.23 — 0.68 &1 AT THSF ST ¢
Options:

; % 0.403

, » 0418



Question Number : 45 Question Id : 16794318617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The two numbers are in the ratio 5 : 7 and the product of their HCF and LCM is 4235. What is the sum of the numbers?

Options:
; % 108

5 #1132
5 % 144

4 % 156

Question Number : 45 Question Id : 16794318617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& WEAIT 5 1 7 F HUd H § AN 3% FecaH TAMNANH AR TcdH FAEH F U 4235 g
TEOTHT FT T AT 22

Options:

, % 108

o o 132
- % 144

. % 156

Question Number : 46 Question Id : 16794318618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The average marks of students in a class is 69.2. The average marks of boys is 65 and that of girls is 72. What is the
ratio of boys and girls?
Options:
1 & 2.3

[
i
L]
1



Question Number : 46 Question Id : 16794318618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TS FET H OMET &7 HET UrcaiF 69.2 §1 T2 FT AGg urtars 65 AR s #v dwg g
72 &1 w5 AR @Rl @7 e Fm ?

Options:
1« 2:3
o R 32
=% 3.4
4 % 4:3

Question Number : 47 Question Id : 16794318619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two vessels A and B contains spirit and water in the ratio 3 : 5 and 3 : 2. Their contents are mixed in the ratio 5 : 4.
What is the ratio of spirit and water in the new mixture?

Options:
1 % 13:15

o 8 15:17
5 % 17:19

i 12

Question Number : 47 Question Id : 16794318619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
grart A @B # 3:5 3R 3: 2 F Hgud & Bafe 3k o=l 1 3w @Afat & 5 0 4 F s
# ffda o smar @1 aw fswer 7 fafie st ol &1 aegare #2r 82

Options:

, % 13 : 15
> % 19 : 17
% 17 : 19

L 19 : 21



Question Number : 48 Question Id : 16794318620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sum of T 1,49,420 is divided among A, B and C such that 5 times share of A is equal to 3 times share of B which is
equal to 2 times share of C. What is share of A?

Options:
. 328,920

> % T48.200

2w T48.600

4 T57.840

Question Number : 48 Question Id : 16794318620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T1494200 AT A BIRCASFaR AT TN e FAFS R BF 3w e &
AT g AR C & off 2 7 REw & T ) A w1 Rwwr fhaer 22

Options:

v 728,920
, » T 48200

. » ¥ 48,600

, » % 57,840

Question Number : 49 Question Id : 16794318621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The numerator of a fraction is increased by 150% and denominator is decreased by 20%. then fraction becomes E .
What is the original fraction?

Options:

8



12

16

Question Number : 49 Question Id : 16794318621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T et &7 3w 150°éaa%mm%ﬁﬁzo%ammﬁmm%ﬁﬁ:ﬁri—i & e g1 7
e T 87

Options:
8

12

)

16

Question Number : 50 Question Id : 16794318622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By selling 25 articles a person gains selling price of 5 articles. What is his gain percent?

Options:

50,{},
3 0

. % 18%

Question Number : 50 Question Id : 16794318622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



25 U = T UF hiFd I 5 TEGIHT F AT Hew @ A FT g1 3R AT Giowra w4 g2

Options:

50,{},
3

.« 18%

Question Number : 51 Question Id : 16794318623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An article is sold at a certain price. By selling it atg of that price. one loses 10%. What is his gain percent at the original
price?

Options:

1 « 8%

Question Number : 51 Question Id : 16794318623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

wmaﬁwﬁﬁmnﬂwamm%iﬁmw#éwﬁaﬁwm%gﬁgﬁr%[ﬂﬁﬁw
T IHRT T8 Gioerd &7 87
Options:

1.« 8%
o R g%
z % 10%

L% 12%

Question Number : 52 Question Id : 16794318624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The value of a machine depreciates every year at the rate of 10% per annum. If present value of machine is T 8.000.
what is percent decrease in its value in three years?

Options:

A~

|« 27.1%

[

g{
| ]
:n.l
2
=

[
g{
| ]
&0
<
=

Question Number : 52 Question Id : 16794318624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
wF AN F AT 10% 9T 39 F & F IoUw Ay Fqeaenad aiar gl ofg 7T # a9Ae q5a
38,000 ¥ & 3% Hew & Frae w1 wfoea feaer 87

Options:

L@ 27.1%

, & 27.6%
s = 28.8%

L % 30%

Question Number : 53 Question Id : 16794318625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If diagonal of a rectangle is 25 cm and its perimeter is 62 cm, what is its area in cm® ?

Options:
1 % 150

5 o 168

Question Number : 53 Question Id : 16794318625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I Tk HTFT FT @G0T 25 cm g HRT IR IS 62 cm g, aF IHFT &% cm? F 4T 87

Options:



% 150
. 168
5 % 175

. ® 300

Question Number : 54 Question Id : 16794318626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If each edge of a cube is increased by 50%, what is percent increase in its surface area?

Options:
1 % 250%

Question Number : 54 Question Id : 16794318626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IE T uF F TIE AR (TH) F 50% d% 96T & A g, Of 39% §dg &9%d ¥ yiavd g F=w
&7

Options:

% 250%
. % 150%
2 v 125%

4 % 100%

Question Number : 55 Question Id : 16794318627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A. B and C alone can do a piece of work in 10 days .15 days and 12 days respectively. They together started the work
but after 3 days. A and B both left. In how many days. C alone will complete the remaining work?

Options:

1.%2’53



Question Number : 55 Question Id : 16794318627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABIRCHFITFFEANFAT 10 RA, 15 RF X122 F # =T g7 £ | 3= TF T FH
% foFar AfFa 3 fom 512 A 3 B 91 717 o5 &7 B 3o C O F # foaw fow & o wem?

Options:

1_-562

> 3

4.-5-:34

Question Number : 56 Question Id : 16794318628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If 6 persons working 8 hours a day earn < 8,400 in 5 days. then 9 persons working 6 hours a day for 8 days will earn
how much money?

Options:
. % 14,560

> % T14,840
5 TI5120

4 T16.240

Question Number : 56 Question Id : 16794318628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o "R 7 8 ¢ F1H T I 6 =hET 5 o § T 8,400 FAIS § A BF F 6 ©E A A I 9
wiedg 8 fem & fhaer Sar Famer?

Options:

. % T 14,560



, % T 14,840

.« T 15,120

. » T 16,240

Question Number : 57 Question Id : 16794318629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The speed of a boat in still water is 10 kmn/h. It can go 30 km upstream and return downstream to original point in
8 hours. What is speed of stream in km/h?

Options:

1_&?3

ra
®
(%

a
b
Lo

o
S
LA

Question Number : 57 Question Id : 16794318629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

B o=t & v A= i Al 10 km/h B TE 8 T F 30 Rl 39 o wed § AR sEaEw g7
FUH X die Fehdl gl URT @ g km/h H T 87

Options:

1_-532

44 O

Question Number : 58 Question Id : 16794318630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A train without stoppage travels at the speed of 100 kmm/h and with stoppage it travels with a speed of 70 km/h. How
many minutes does the train stop on an average per hour?

Options:
1 ® 20



2.;;"18

Question Number : 58 Question Id : 16794318630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 3 3209 & & 100 e ofy o Fr of7 ¥ ¥t sgu9 & @y 70 O 9 o & oy @ o
g 37 9fa e eaa Fae e &Far 22

Options:

1 * 20

> o 18

o ® 16

g4 ® 15

Sub-Section Number: 2
Sub-Section 1d: 1679431182
Question Shuffling Allowed : Yes

Question Id : 16794318631 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)

Juestion Label : Comprehension
The following table give the height of students in centimeters in a
primary school. Read the table and answer the following questions.

Class 80-90 | 90-100 | 100-110 | 110-120 | 120-130 | 130-140
Interval
No. of 50 66 63 76 100 140
students
Sub questions

Question Number : 59 Question Id : 16794318632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the average (mean) height of students in cm?

Options:



L« 1156
5% 1128
5 % 108.2

4 % 102.8

Question Number : 60 Question Id : 16794318633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the data given in the table is represented as Pie-
chart, what is the central angle of the sector in which
median lies to nearest whole degree?

Options:

1 = 490

Question Id : 16794318631 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label - Comprehension

frafaf@a oo & STuf@® Toa & oF $ Fag JeAe
# & &1 Al Tew Reafaf@a weAt ¥ 3w

T AT | 80-90 | 90-100| 100-110 | 110-120 | 120-130 | 130-140
oTHr FT §Ear| 50 66 68 76 100 140

Sub questions

Question Number : 59 Question Id : 16794318632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oET Fr AET (AeT) FEE @A § 1w 22
Options:

. v 115.6



> % 112.8
5 = 1082

L« 1028

Question Number : 60 Question Id : 16794318633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AR A T v e H A F & H T AT § A
AT qTer 81T T Feard P Aeeds qoT 230 # a1 87

Options:

1. = 490

o & 52D

= ” 550

4 ® 580

rereral English

Group Number : 4

Group Id : 167943697

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General English

Section Id : 167943762
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section I1d: 1679431183
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 16794318634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify it.

One of the options is a complete sentence.

Options:
1 % Race and Creed.

> % A wolfin sheep’s clothing.

- % Ihe Niagara Falls.

Y, Plants also have feelings.

Question Number : 61 Question Id : 16794318634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify it.

One of the options is a complete sentence.

Options:
1 % Race and Creed.

> % A wolfin sheep’s clothing.

= % Ihe Niagara Falls.

4 o Plants also have feelings.

Question Number : 62 Question Id : 16794318635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose a suitable clause to complete the sentence.

Corruption must go,

Options:



. « @lthough it has deep roots in the society

- % and it has deep roots in the society

- % S0 it has deep roots in the society

4 # norithasdeep roots in the society

Question Number : 62 Question Id : 16794318635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose a suitable clause to complete the sentence.

Corruption must go,
Options:
, « although it has deep roots in the society

- u andithas deep roots in the society

5 % S0 it has deep roots in the society

4 w nor it has deep roots in the society

Question Number : 63 Question Id : 16794318636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which sentence makes most sense?

Options:

, « Etiquettes can be taught. but one’s culture will still have a huge influence.

- # Etiquettes can be taught. and one’s culture will still have a huge influence.

- = Etiquettes can be taught. despite one’s culture will still have a huge influence.

4 = Etiquettes can be taught, so one’s culture will still have a huge influence.

Question Number : 63 Question Id : 16794318636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which sentence makes most sense?
Options:



. « Etiquettes can be taught, but one’s culture will still have a huge influence.

- u Etiquettes can be taught. and one’s culture will still have a huge influence.

- » Etiquettes can be taught. despite one’s culture will still have a huge influence.

, = Etiquettes can be taught. so one’s culture will still have a huge influence.

Question Number : 64 Question Id : 16794318637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Nowadays. my friend for IKEA.
Options:

1 % has worked

- % has been working

= % worked

4 « 1s working

Question Number : 64 Question Id : 16794318637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Nowadays. my friend for IKEA.
Options:

1 % has worked

> % has been working

=z % worked

4 « is working

Question Number : 65 Question Id : 16794318638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
People are asking him a beard.
Options:

| % Sports



- « tosport

5 # Sporting

4 = tosporting

Question Number : 65 Question Id : 16794318638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
People are asking him a beard.

Options:

o  tosport

= # Sporting

4 # tosporting

Question Number : 66 Question Id : 16794318639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“We will win the tournament?’, the captain said. The Reported Speech form would be
Options:

, = the captain said that they had won the tournament.

the captain said that they will win the tournament.
the captain said that they are winning the tournament.

4 « the captain said that they would win the tournament.

Question Number : 66 Question Id : 16794318639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“We will win the tournament?’, the captain said. The Reported Speech form would be
Options:

, = the captain said that they had won the tournament.

- % the captain said that they will win the tournament.



- w the captain said that they are winning the tournament.

4 « the captain said that they would win the tournament.

Question Number : 67 Question Id : 16794318640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Provide the appropriate question tag.

He would inform the Manager.

Options:
1 % won’t he?

- % doesn’t he?
3 « wouldn’t he?

4 % shouldn’t he?

Question Number : 67 Question Id : 16794318640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate question tag.

He would inform the Manager.
Options:
1 % won’t he?

- % doesn’t he?
3 « wouldn’t he?

4 % shouldn’t he?

Question Number : 68 Question Id : 16794318641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word.

The coach was in a predicament to pick the best player for the next game.
Options:
' PhB



> % situation

= % confident

4  Quandary

Question Number : 68 Question Id : 16794318641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word.

The coach was in a predicament to pick the best player for the next game.
Options:
' B8

- % situation

> # confident

4  Qquandary

Question Number : 69 Question Id : 16794318642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word.

The student is prankish by nature.

Options:
1 % Bullish

> « Mischievous

- % Dapper

4 = Short-tempered

Question Number : 69 Question Id : 16794318642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word.

The student is prankish by nature.

Options:



1 % Bullish
> « Mischievous

5 % Dapper

4 = Short-tempered

Question Number : 70 Question Id : 16794318643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the following sentence in meaningful and grammatically correct order.

A. Unfortunately there are few of them with these qualities around.

B. Is he/she the one who is an expert at his/her subject or is there any other criteria?
C. Who is a good teacher?

D. Good teachers are the ones who have a lifelong impact on students.

E. They are called *superstar teachers’.

Options:
1 % BACDE

> « CBDAE
- % ACDBE

4 % CDABC

Question Number : 70 Question Id : 16794318643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the following sentence in meaningful and grammatically correct order.

A. Unfortunately there are few of them with these qualities around.
B. Is he/she the one who is an expert at his/her subject or is there any other criteria?

C. Who is a good teacher?
D. Good teachers are the ones who have a lifelong impact on students.

E. They are called ‘superstar teachers’.
Options:
1 % BACDE
> « CBDAE

- » ACDBE



4 % CDABC

Question Number : 71 Question Id : 16794318644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate antonym for the underlined word.

This metal is a vital component in the production of the machine.
Options:

, « Dispensable

- % Contaminant
= % Subsistent

4 = Indispensable

Question Number : 71 Question Id : 16794318644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate antonym for the underlined word.

This metal is a vital component in the production of the machine.

Options:
, « Dispensable

- % Contaminant
=z % Subsistent

4 # Indispensable

Question Number : 72 Question Id : 16794318645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate antonym for the underlined word.

He is pessimistic about the success of the experiment.

Options:
1 % Doubtful

o  Optimistic



z % Candid

4 = Mystic

Question Number : 72 Question Id : 16794318645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate antonym for the underlined word.

He is pessimistic about the success of the experiment.

Options:
1 % Doubtful

o  Optimistic
=z % Candid

4 % Mystic

Question Number : 73 Question Id : 16794318646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct preposition.

the stern exterior. lies a very emotional person.

Options:
1 % About

> « Beneath
= % ACross

4 % Within

Question Number : 73 Question Id : 16794318646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct preposition.

the stern exterior. lies a very emotional person.

Options:
1 % About



> « Beneath
= % ACross

4 % Within

Question Number : 74 Question Id : 16794318647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct preposition.

you choose the university. speak to vour professor.

Options:
1 % From

- % Below
3 « Before

4 = Beyond

Question Number : 74 Question Id : 16794318647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct preposition.

you choose the university, speak to your professor.

Options:
1 % From

-~ % DBelow
5 « Before

4 » Beyond

Question Number : 75 Question Id : 16794318648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate conjunction.

the end of the year. the performance of the company dipped.

Options:



1 ® And
- % Otherwise
Despite

4 « Towards

Question Number : 75 Question Id : 16794318648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate conjunction.

the end of the year. the performance of the company dipped.
Options:

1 #® And
> # Otherwise
Despite

3 R

4 « Towards

Sub-Section Number: 2
Sub-Section 1d: 1679431184
Question Shuffling Allowed : Yes

Question Id : 16794318649 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the following passage and answer the questions that follow.

Probably the most frustrating workplace irony for many of us is how we
relentlessly pursue success but never seem to arrive at being
successful. Of course, there are millions of successful people--Nobel
Prize winners, college graduates, loving parents. But for a variety of
reasons, so many of us do not feel successful even when we achieve
much of what we are striving for. Particularly at work, we can find
ourselves searching for wealth, recognition, and accomplishment, yet
year in and year out, no matter how much we achieve, there's still
something that seems to elude our grasp. The famed Greek fabulist
Aesop shed some light on this dilemma more than twenty-six hundred
years ago in a short tale entitled, "A Farmer and His Children":

A farmer, at death's door, wishing to impart to his children an important
secret, called them fo his deathbed and said, "My children, I am about fo
die. Iwould have vou know, therefore, that our vinevard contains a
hidden treasure—a treasure I have cherished all my life. Dig and yvou,
too, will find it."

When their father died, the children took spade and pitchfork and turned
the soil of the vineyvard over and over again in their search for the
treasure, which they were told lay hidden in the vineyard,

For weeks and weeks, they toiled, breathlessly searching every inch of
the land. Finally, the children ended their search in frustration, for they
had found no freasure. But to their surprise, the vines, after so much
thorough digging, produced a bountiful, lush crop of grapes such as had
never been seen before.

Like the farmer's children, we are all, in one way or another, looking for
treasure at work: the promotion, new assignment, salary increase,
recognition, big bonus. At times, it's as if we sense that work holds the
winning number to life's lottery, and each day we toil in hopes of hitting
the jackpot.

Yet like the farmer's children, most of us come up empty-handed. At
times, work's disappointments can feel like a cruel joke. No matter how
hard we work, no matter how much success we achieve, no matter how
secure or celebrated we feel, it never seems enough. But Aesop's tale
reveals a profound spiritual irony to our frustration: in mistakenly
searching for a treasure that does not exist, we overlook the good fortune
being cultivated right within our grasp.

Sub questions

Question Number : 76 Question Id : 16794318650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Dilemma’ means:



Options:
, = Happy situation

-  Tricky situation

- % Pleasant situation

4 % Troubled situation

Question Number : 77 Question Id : 16794318651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The children produced a bountiful, lush crop of
grapes such as had never been seen before as;
Options:

, = They sought the advice of expert farmers.

They used lot of fertilizers.
The father gave them some useful tips.

They turned the soil of the vineyard over and over
4 « again which produced the crop.

Question Number : 78 Question Id : 16794318652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When the writer says ‘each day we toil in hopes of
hitting the jackpot® he means

Options:

1 #% the work hard as we all like to win a tournament.

everyone wants to accumulate lot of money in a
- % bank.

everyone aspires to store silver.

we work hard hoping to win a large amount of
4  money. especially in a lottery.

Question Number : 79 Question Id : 16794318653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

What never seems enough according to the author?
Options:

. Hard work, success, security and fame.

- u Jobs, success, fame and managerial position.

. Hard work, victory, happiness and bliss

. Success, security, insecurity and position.

Question Number : 80 Question Id : 16794318654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word profound means:

Options:
1 % fundamental

5 o extreme

z % funded

4 % unfounded

Question Id : 16794318649 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuestion Label @ Comprehension



Read the following passage and answer the questions that follow.

Probably the most frustrating workplace irony for many of us is how we
relentlessly pursue success but never seem to arrive at being
successful. Of course, there are millions of successful people--Nobel
Prize winners, college graduates, loving parents. But for a variety of
reasons, so many of us do not feel successful even when we achieve
much of what we are striving for. Particularly at work, we can find
ourselves searching for wealth, recognition, and accomplishment, yet
year in and year out, no matter how much we achieve, there's still
something that seems to elude our grasp. The famed Greek fabulist
Aesop shed some light on this dilemma more than twenty-six hundred
years ago in a short tale entitled, "A Farmer and His Children":

A farmer, at death's door, wishing to impart to his children an important
secret, called them fo his deathbed and said, "My children, I am about fo
die. Iwould have vou know, therefore, that our vinevard contains a
hidden treasure—a treasure I have cherished all my life. Dig and yvou,
too, will find it."

When their father died, the children took spade and pitchfork and turned
the soil of the vineyvard over and over again in their search for the
treasure, which they were told lay hidden in the vineyard,

For weeks and weeks, they toiled, breathlessly searching every inch of
the land. Finally, the children ended their search in frustration, for they
had found no freasure. But to their surprise, the vines, after so much
thorough digging, produced a bountiful, lush crop of grapes such as had
never been seen before.

Like the farmer's children, we are all, in one way or another, looking for
treasure at work: the promotion, new assignment, salary increase,
recognition, big bonus. At times, it's as if we sense that work holds the
winning number to life's lottery, and each day we toil in hopes of hitting
the jackpot.

Yet like the farmer's children, most of us come up empty-handed. At
times, work's disappointments can feel like a cruel joke. No matter how
hard we work, no matter how much success we achieve, no matter how
secure or celebrated we feel, it never seems enough. But Aesop's tale
reveals a profound spiritual irony to our frustration: in mistakenly
searching for a treasure that does not exist, we overlook the good fortune
being cultivated right within our grasp.

Sub questions

Question Number : 76 Question Id : 16794318650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Dilemma’ means:



Options:
, = Happy situation

-  Tricky situation

- % Pleasant situation

4 % Troubled situation

Question Number : 77 Question Id : 16794318651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The children produced a bountiful, lush crop of
grapes such as had never been seen before as;
Options:

, = They sought the advice of expert farmers.

They used lot of fertilizers.
The father gave them some useful tips.

They turned the soil of the vineyard over and over
4 « again which produced the crop.

Question Number : 78 Question Id : 16794318652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When the writer says ‘each day we toil in hopes of
hitting the jackpot® he means

Options:

1 #% the work hard as we all like to win a tournament.

everyone wants to accumulate lot of money in a
- % bank.

everyone aspires to store silver.

we work hard hoping to win a large amount of
4  money. especially in a lottery.

Question Number : 79 Question Id : 16794318653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
What never seems enough according to the author?

Options:

. Hard work, success, security and fame.

- u Jobs, success, fame and managerial position.

. Hard work, victory, happiness and bliss

. Success, security, insecurity and position.

Question Number : 80 Question Id : 16794318654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word profound means:

Options:
1 % fundamental
> o extreme

z % funded

4 % unfounded
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Sub questions

Question Number : 81 Question Id : 16794318656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

9gTE 1 @9 g3 FiaT G 27

Options:
| TFIETHT IUT 3 ey

- x T giaAr

EIEED

z & =

4_&%?‘”“&

Question Number : 82 Question Id : 16794318657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Options:

1 % SHIG
2.%‘3':"3'
glgﬁfﬂ?ﬂ
, » HETeH

Question Number : 83 Question Id : 16794318658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ey H P9 oredr wi & Fer &
3oord Al 87

Options:

], - AHIS

Question Number : 84 Question Id : 16794318659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
HeEIeeT & 3 el 7 fFm w = G
g7

Options:

. » OIOEE, FIREE

. » ONEE, FEoedERg

. v BIUERE, TUTEETG



Question Number : 85 Question Id : 16794318660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
foraes et 7 sovg 3 arer ear &2
Options:

1 % AHIE
5 % T
5 o AT
L x HETEEr
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Sub questions

Question Number : 81 Question Id : 16794318656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

YHIE FT F8Y T3 Fi9 7T 82

Options:
| FITFHT TUT ¥=g FEy

o 9EY SigAr
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Question Number : 82 Question Id : 16794318657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1 & HHIQ
2.$3d?"
5 o TATrem
L % HETEEr

Question Number : 83 Question Id : 16794318658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ey H R SrEiT Hi & Fer &7
ool gl 872

Options:

% AHIG

Question Number : 84 Question Id : 16794318659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FERE o 37 et & frg W = G
g7

Options:
1 ® whldldlg, {p+<dig
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Question Number : 85 Question Id : 16794318660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 86 Question Id : 16794318661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e # acos o= #ia @ &2
Options:
1. ® T

o B &,

S ¥

4_53%

Question Number : 87 Question Id : 16794318662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e & sl o Tz ¥
Options:
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S % 2

4 % TUSS

Question Number : 87 Question Id : 16794318662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e & e a1 T B2
Options:

1_%33‘13?{
z.ftfﬂ"ﬁ

S % 2

4 % TUSS

Question Number : 88 Question Id : 16794318663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 88 Question Id : 16794318663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Trafa@a # ST O1 oaeg 3o 87
Options:

1_Jm
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3. % 3ol

4@W

Question Number : 89 Question Id : 16794318664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘eRT P 9w T AT 27
Options:

—
1 & ecdlercidizien

Question Number : 89 Question Id : 16794318664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘3eRT g 9FR ST g1 22




Options:
 —
1 # edlercdi=en

Question Number : 90 Question Id : 16794318665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 90 Question Id : 16794318665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 91 Question Id : 16794318666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 91 Question Id : 16794318666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 16794318667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 16794318667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 95 Question Id : 16794318670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 16794318670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 96 Question Id : 16794318671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 96 Question Id : 16794318671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 16794318672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 16794318672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 16794318673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 16794318675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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frrafaf@e & o+ &1 e & o= wee =7 @ 87

Options:

| HecTTeTdr
5 ® el
gwm
4_4.33-IF~EITEﬁ

Subject Related

Group Number : 6
Group Id: 167943699
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 167943764
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20

Number of Questionsto be attempted: 20



Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 1679431187
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 16794318676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What does growth indicate in biological system?
Options:

| « Increase in size and mass of a particular organism

- » Progression towards maturity

- » lransformation of structure, function and ability

4 = Adding to one’s intelligence

Question Number : 101 Question Id : 16794318676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 16794318677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the Formal operational stage indicate in Piaget’s four cognitive stages of childhood development?

Options:
; = Children learn about the world through their senses



- % Children develop memory and imagination

= % Children become more aware of external events

4 « Children use logic to solve problems and plan for the future

Question Number : 102 Question Id : 16794318677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T FFE & O F 91 §AECHS ROt J vmiis 9fEres o g Fear 2

Options:

£ g HAT il o ATIH H gAdr & a # ded ¢

L » 9 T 3R weuar FelE &=

L, » T AEY TTATHI F AN F HOF FATEF & T &

4 ¢

== GHEATHT F AT Fl 3R giasy & BOw O 9= & & 3% &7 39997 &3 &

Question Number : 103 Question Id : 16794318678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which age do the children display growing interest in functional aspects of written language as trving to write their
own names?

Options:

| % 2 years

o o 3 years

5 % 11 years

4 R 8 years

Question Number : 103 Question Id : 16794318678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 16794318679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the need for the teachers to know the physiological needs of a child?
Options:

, w To give them intellectual input

- % o give appropriate learning materials

-  To create a warm and inviting classroom environment

4 % Todiscipline them in correct manner

Question Number : 104 Question Id : 16794318679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 16794318680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Where does formal socialization happen?
Options:

, = From neighbourhood



-, w From society

= % From friends

4 « From schools and colleges

Question Number : 105 Question Id : 16794318680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 106 Question Id : 16794318681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is Piaget’s view of schema?
Options:
, « includes both a category of knowledge and the process of obtaining that knowledge

-~ = Aftaining confidence while communicating

- w Development and usage of language in children

4 % Social awareness

Question Number : 106 Question Id : 16794318681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 16794318682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the key hallmark of the ability to thinking about abstract ideas and situations?
Options:

, = The concrete operational stage of cognitive development

- « The formal operational stage of cognitive development

- % [Ihe preoperational stage of cognitive development

4 = The sensorimotor stage of cognitive development

Question Number : 107 Question Id : 16794318682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id : 16794318683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the concept of development in early childhood?
Options:

, « Concept of self



- u Concept of weight

- = Concept of time

4 = Concept of space

Question Number : 108 Question Id : 16794318683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 16794318684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who gave this defenition of Learning ‘Learning is relatively permanent change in behavioural potentiality that occurs
as a result or reinforced practice’?

Options:

1 + Kimble-1961

> u Gardener Murphy-1968

- u Hilguard-1958

4 # Henry. P. Smith-1962

Question Number : 109 Question Id ;: 16794318684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 16794318685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the meaning of learning is adjustment?

Options:
i .

Learning is through the modification and remodification by the objects and individuals in the environment

2 %
Learning is that where individual mind is consciously or unconsciously affected by the group activities

- u Learning is both physical and mental development

4 « Learning leads the individual to achieve the ability to adapt adequately to all situations in life

Question Number : 110 Question Id : 16794318685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 16794318686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In which year was Bloms Taxonomy created?

Options:
1 % 1984

> % 2000
5 « 1956

4 % 1958

Question Number : 111 Question Id : 16794318686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, % 1984
. % 2000
- v 1956

. % 1958

Question Number : 112 Question 1d : 16794318687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who revisited the cognitive domain in mid-nineties and made some changes?

Options:
, » Benjamin Bloom

» = Chomsky

- w Jean Piaget

4 « David Krathwohl

Question Number : 112 Question Id : 16794318687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 113 Question Id : 16794318688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Comprehending the meaning, translation and interpolation are the specifications of which category?
Options:

; = Applying

» w Remembering

5  Understanding

4 w Analyzing

Question Number : 113 Question Id : 16794318688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question Id : 16794318689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which category do these key words analyzes. breaks down, compares, contrasts. diagrams, deconstructs. differentiates
belong to?

Options:



, w» Evaluating
o  Analyzing

- u Creating

4 % Remembering

Question Number : 114 Question Id : 16794318689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

3T AT ¥real T faeeiwor Fie T AU FIAT §, T 8, o FAT g, [T FT g,
@, TEt=a FEAT a7 HT 82

Options:

Hoedlienad ehidl

> « TE2NOT AT
5 % FAAT

% TS TEAT

Question Number : 115 Question 1d : 16794318690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of the feature- socialization helps to control human behavior?
Options:
. Its members transmits culture to the next generation and society continues to exists

Do

- = Children learn their language, customs, norms and values in the family

5 = Society intends to control the behavior of its members unconsciously

4  Show discipline behavior to gain social approval

Question Number : 115 Question 1d : 16794318690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question 1d : 16794318691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is culture defined as?

Options:

, « As the belief, values, behavior and material objects shared by a particular group

- % Shape and define our thoughts. feelings and actions

- » How to fit into and to function as productive member

, = Economic knowledge, decision taking and financial matter

Question Number : 116 Question Id : 16794318691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 117 Question 1d : 16794318692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does culture provide?



Options:
, w» Growth and physical development

- » Emotional balance and equilibrium

- » Creativity and development
4 ¢
The framework within which our lives become meaningful based on standards of success. beauty and goodness

Question Number : 117 Question Id : 16794318692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question 1d : 16794318693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What do you understand by Adult Socialisation?

Options:
1, .

Refers to the process of discarding former behavior patterns and accepting new ones as a part of transition in one’s life

"
Refers to the roles people get into later on in life for which primary and secondary socialization may not have prepared
them fully

- u Refers to socialization of the infant in the primary or earliest years of his life

4 ®
Refers to the process by which men learn the culture of a group with the anticipation of joining the group

Question Number : 118 Question Id : 16794318693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 119 Question 1d : 16794318694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does Consultative Group on Early Childhood Care and Development, with support from UNICEEF., deal with?

Options:
; w» Family upbringing

- % Peer group relationship

-  Childbearing practices and beliefs

4 = Culture practices around the globe

Question Number : 119 Question Id : 16794318694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 16794318695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What do you mean by ‘Promote the child’s psycho-social well-being’?

Options:

, « Providing emotional security. socialisation. nurturing and giving affection

-~ = Keeping the child safe and free from harm. providing shelter. preventing and attending illness

5 » Interaction, stimulation and play

4 = Childs interaction within the community, at health clinics, at school

Question Number : 120 Question Id : 16794318695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Subject Related

Group Number : 7

Group Id: 167943700
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0



Minimum Instruction Time: 0

Subject Related

Section Id : 167943765

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 1679431188
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 16794318696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Explain ‘Socialisaton is rapid if there is more humanity among the agencies of socialisation’.
Options:

, = Socialisation is a life-long process and does not cease when the child becomes adult

- w Socialisation inculcates basic discipline to control his impulses

- = Socialisation takes place through direct instructions and education in school

4 <
Socialisation takes place rapidly if the agencies of socialisation are more unanimous in their ideas and skills

Question Number : 121 Question Id : 16794318696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id ;: 16794318697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is socialisation in high school level?
Options:

1 %

Teacher provide the opportunities to improve socialisation by conducting discussions, activities like mutual
understanding with the peer group

2%
Children learn the skills which they help in future actively participate in co-curricular activities

S
Teacher makes the children learn good habits, civic responsibility and how to mingle with the society

4 = No strict rules to learn, but education is learnt by the way of playing

Question Number : 122 Question Id : 16794318697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question 1d : 16794318698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the purpose of Early Childhood Care and Education?
Options:

, « Holistic development of child



- u Educational development of child

- » Health development of a child

4, = Cultural development of a child

Question Number : 123 Question Id : 16794318698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 124 Question 1d : 16794318699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the main aim of National Literacy Mission?
Options:
. Eradication of illiteracy for the age group of 10 to 35

L .

- » Eradication of illiteracy for the age group of 5+ 10 35

-  Eradication of illiteracy for the age group of 15 to 35

, = [Eradication of illiteracy for the age group of 15 to 45

Question Number : 124 Question 1d : 16794318699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 125 Question Id : 16794318700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
DELINKING DEGREES FROM JOBS- This concept has given by this.

Options:
, % New education policy of 1968

-  New education policy of 1986

5 % NCF-2005

4 % NCF-2011

Question Number : 125 Question Id : 16794318700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 16794318701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

National Committee on Women’s Education, 1958 is also called as like this:
Options:

, « Durgabai Deshmukh Committee



> % Ishwar Patel bhai Committee

- » Yashpal Committee

4 % Khothari Education Commission

Question Number : 126 Question Id : 16794318701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 127 Question Id : 16794318702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the span of elementary education?
Options:

1 = 10 years

Question Number : 127 Question 1d : 16794318702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question Id : 16794318703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which is the main goal of TRANSIT SCHOOLS?
Options:

+ 1o provide opportunities for girls

DR

-  To provide opportunities to socioeconomically disadvantaged children

- % 1o provide opportunities for school dropouts

4 = Toprovide opportunities for minorities

Question Number : 128 Question Id : 16794318703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question Id : 16794318704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four C’s as per RMCA about gender:
Options:

; w Cast, Culture, Civics and Coexistence



-  Concern, Consciousness, Capacity building and Capabilities

- » Concern, Capabilities Consciousness and Care

, = Context of globalization, Capacity, Caste and Concern

Question Number : 129 Question Id : 16794318704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
forT & a1 & HRTAHIT & HJEN AW C's F4T g7
Options:

, » wrEe, we, fafaew i sefeasts

. v PEA, PRTTAALH, FOfae! fafese T8 FHfafoe

, % PIECHFEE HTH TGOS, FUTHE!, FEC TS FHHaA

Question Number : 130 Question Id : 16794318705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the total number of tribal communities recognized by the government?
Options:

;

LA

-
L

1 o

2
3’{
LA
o

L
S
LA
|
[

Question Number : 130 Question Id : 16794318705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 16794318706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which conference the principle of inclusive education was adopted at the “World Conference on Special Needs
Education: Access and Quality™?

Options:
 # San Francisco,USA-1994

>  Salamanca, Spain-1994

5 ® South Africa. Africa-1994

4 % Saudi Arabia-1994

Question Number : 131 Question Id : 16794318706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

|« B WIAEH, USA-1994

. » HelTHe, TI9-1994

- % GIETUT 3ThIeRT, 3THTeRT-1994

4 % GFar 31E-1994

Question Number : 132 Question 1d : 16794318707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which was launched December 19747
Options:

, « The Integrated Education for Disabled Children (IEDC) scheme



- w The integrated program for disabled children

- » [Ihe Integrated Education for Dyslexic Children

4 % The inclusive education for disabled children

Question Number : 132 Question Id : 16794318707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question Id : 16794318708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which type of disability is protected and promote rights by the National Trust Act 19997

Options:
, = Hearing disability

-  The disability due to Cerebral Palsy

- » Disability in doing work

4, = Disability to talk and walk

Question Number : 133 Question Id : 16794318708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id : 16794318709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is addressed in the movie ‘Tare Zameen Par’?
Options:

, = Dyspraxia

»  Dyslexia

- % Dyscalculia

4 = Dysgraphia

Question Number : 134 Question Id : 16794318709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafefEa & @ w9 o er 'an 3809 W & gafag G 7 22
Options:

1. ® 'F'E'.I‘;lﬁﬁiﬂ
> v BFEEAr

Question Number : 135 Question 1d : 16794318710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Curriculum does not only include the academic subjects traditionally taught in schools but also includes the totality of
experiences’. This definition is given by:

Options:

1 % National curriculum Framework 2003



> % National curriculum Framework 2000

=  Secondary Education Commission

4 = National Policy of Education

Question Number : 135 Question Id : 16794318710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question Id : 16794318711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By which determinant of curriculum has included idealism?
Options:

, « Philosophical determinant

> u Psychological determinant

= % Social determinant

4 % Psycho social determinant

Question Number : 136 Question Id : 16794318711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 16794318712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is main feature of psychological determinant?

Options:
1 « Child centric education

- % Teacher centric education

- w Learning psychology of student and teacher

4 = Inclusion of psychology in learning

Question Number : 137 Question Id : 16794318712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 138 Question Id : 16794318713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statement is appropriate for Principle of activity-centeredness of Curriculum?
Options:

1 ® The pupils experience physical, mental, social and emotional development



- P
The pupils are actively engaged in the process of learning and gain knowledge as a result of purposeful activity

5 = Ihe pupils get variety of experiences as per the differences

4 = The pupils can utilize their leisure time

Question Number : 138 Question Id : 16794318713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 139 Question Id : 16794318714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is the known as the father of computer?

Options:
, % Bill Gates

-  Charles Babbage

= # Marks Zukerberg

4 % Albert Einstein

Question Number : 139 Question Id : 16794318714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
forer! Hogex & [aT & &9 & A AT 87

Options:




1N LR
E_V?Wﬁ?
o7 AF SRTEeT

, w oEC IEEIA

Question Number : 140 Question Id : 16794318715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following means “A set of rules for appropriate behaviour while using internet™?

Options:
, « Netiquettes
Net safety

Net protection

Net privacy

o
B

Question Number : 140 Question Id : 16794318715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Subject Related

Group Number : 8
Group Id: 167943701



Group Maximum Duration : 0

Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 167943766

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 1679431189
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 16794318716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
As a teacher how will you make teaching learning effective by using technology?
Options:

, = Providing technological resources to students

- = Preparing presentations for students

» Selecting appropriate technology as per the needs of the students

» Using technology for teaching. learning and evaluation

Question Number : 141 Question 1d : 16794318716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question 1d : 16794318717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is a best option for virus management?
Options:

, = Deleting the virus infected files from system

- » Deleting unknown mails from your account

5  Using anti- virus software for PC

4 = Sending virus to others

Question Number : 142 Question 1d : 16794318717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question 1d : 16794318718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which will be the effective computer programme for the students?
Options:

, w» Programme which has animations



-, w Programme which has proper evaluation strategies

5 » Programme which has audio

4 « Programme which has clear instructions

Question Number : 143 Question Id : 16794318718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 16794318719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Child lock system is mainly used for:

Options:
; = Keeping watch on students

-  Protecting them from harmful website content

- # Preventing students to use internet

4 % Use educational websites

Question Number : 144 Question Id : 16794318719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TSe8 Wer (BECH & HET &9 ¥ 394197 fhar Far &
Options:
% BEN W T @



g Ne JTAEe A § 3o QAT T

i 4

. x OTH Pl FIIAC F 3ART FA H Uehedl

, « AfETF AFATEE FOFIT Y

Question Number : 145 Question Id ;: 16794318720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

As a teacher where can you use social networking for vour teaching?
Options:

, w For difficult topics

- % For simulation lessons

5 » For explaining important concepts

4  For collaborative learning

Question Number : 145 Question 1d : 16794318720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 16794318721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which example is appropriate for virtual classroom?
Options:

; = Classroom having computer, LCD projector



- u Classroom having smart board

5 u Classroom having ICT resources with internet

4 « Virtual learning atmosphere with ICT resources with internet

Question Number : 146 Question Id : 16794318721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question Id : 16794318722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of understanding objective?

Options:

; = achieved to develop the recall and recognition abilities

2.
realized by developing the abilities of seeing relationship. discrimination, cite example and generalization

- » achieved by developing the abilities of reasoning, hypothesizing, inferring, and prediction

4 = achieved by satisfying the highest needs of a person and employing internal motivation

Question Number : 147 Question 1d : 16794318722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question Id : 16794318723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the teacher’s use of achievement test?
Options:

. w Will give numerical range of the learners

- w Will give where the learners are in class

- u Wwill give clear picture of learner’s behavior

4 « Will come to know the general range of abilities of students in class

Question Number : 148 Question Id : 16794318723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 16794318724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



When we are intensely listening to music, we understand the melody and music in the songs and poems, enjoy and
derive pleasure from listening. This refers to which type of listening?

Options:
| % Casual listening

- = Focused listening

5 « Appreciative listening

4 = Gist listening

Question Number : 149 Question Id : 16794318724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id ;: 16794318725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

While searching for the time of departure of a train. we need. we just run our eyes through the railway time-table and
locate it. This is an example of which reading technique?

Options:
, = Skimming
5 of Scanning

% % Intensive

4 % Extensive



Question Number : 150 Question Id : 16794318725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 151 Question Id : 16794318726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The teacher uses pictures and flash cards to motivate the students and read the lines. This method of teaching reading is:

Options:
1 % Phonic method

> % Word method
z % Phrase method

4 « Sentence method

Question Number : 151 Question Id : 16794318726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question Id : 16794318727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is a technique used in Direct Method?

Options:
1. =

Learners get the knowledge of grammar which helps in the development of spoken and written skill
-  Learners are encouraged to think and communicate in English

- » Iranslation of English words in the local language for better understanding

4 %
Teacher plays an important and active role in classroom transaction and interaction is one sided

Question Number : 152 Question Id : 16794318727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question Id : 16794318728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of Team Teaching?
Options:

, = Hold a group discussion to produce ideas

- u Teacher work together in group activities

=W
Teachers forming a group and working purposefully. regularly and cooperatively to help the learners



4 = Teacher review their teaching strategies regularly

Question Number : 153 Question Id : 16794318728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question Id ;: 16794318729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What do you mean by Grammar in language acquisition?
Options:

, w vocabulary

> % Sound system

= % Sentences

4  Context-dependent rules, style

Question Number : 154 Question Id : 16794318729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question I1d : 16794318730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What do you mean by morphology?

Options:
, = Isthe study of meaning we get from the sentence

-  Isthe study of words, how they are formed and their relationship to other words

- u Isthe study of context and situations

4 = Isthe study of sound system

Question Number : 155 Question Id : 16794318730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 16794318731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the explanation of ‘modelling language’?
Options:

1 v

Adults should use language that include rich vocabulary. abstract words and concepts, and variety of grammatical forms

- % Adults should not focus on children as they learn all by themselves listening to them talk

- % There isno need for modeling language



4 = Pointto a picture in the book and tell their names

Question Number : 156 Question Id : 16794318731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 16794318732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is language delay?
Options:
 NNot having proper conversation with adults

L .

- = Notable to repeat after the adults

- » Notable to think of proper vocabulary to use while speaking

4 « Not able to express properly in early years

Question Number : 157 Question 1d : 16794318732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 158 Question Id : 16794318733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

This technique developed by Brown & Poliscar, allows students to use Meta cognitive techniques and discuss about the
text given to them.

Options:
, « Reciprocal teaching

5 % DBUZZ groups

= % Think Pair Share

4 w Roleplay

Question Number : 158 Question Id : 16794318733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 16794318734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Some students in a class need more time to grasp new concepts and are having difficulty in maintaining social
interactions. They are:

Options:

1 % Backward learners



> o Slow learners
=z % Poor learners

4 # Day dreamers

Question Number : 159 Question Id : 16794318734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question Id ;: 16794318735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
DYSCALCULIA- refers to:
Options:

. « Mathematics learning disability

> = Struggling learner

- w A gifted student

4 % Poor motivation

Question Number : 160 Question Id : 16794318735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Subject Related

Group Number : 9
Group Id : 167943702
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Eelated

Section Id : 167943767

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Pand: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 1679431190
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 16794318736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Higher learning outcomes like synthesis. interpretation, problem solving etc. can be tested with these types of questions.

Options:
; % Matching type

5 of Essay type



= u Short answer type

4 = Classification type

Question Number : 161 Question Id : 16794318736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question Id : 16794318737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following are the qualities of a Good Test?

Options:
.« Reliability

, w Validity

5 # Objectivity

4  Allofthe given

Question Number : 162 Question 1d : 16794318737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 16794318738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘SEED' programme is related to the following education:

Options:
1 « Science education

- u Agricultural education

- % Environmental education

4 % Social science education

Question Number : 163 Question Id : 16794318738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question 1d : 16794318739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which approach is suitable to encourage students to conserve and protect the natural environment?
Options:

, = Environmental education for child’s development

- » Natural science education learning development



-  Environmental education for sustainable development

4 = Environmental education for country’s development

Question Number : 164 Question Id : 16794318739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 16794318740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

This theory suggests that students learn more effectively by ‘doing’ than by ‘listening’:
Options:

, = Passive learning

- w Active learning

5  Experimental learning

4 w Rote learning

Question Number : 165 Question Id : 16794318740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 16794318741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“Habitat and Learning™ is related with following education:
Options:

, » Community Education
- % Social Education

= % Science Education

4 « Environmental Education

Question Number : 166 Question Id : 16794318741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 16794318742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the name of the course material for environmental education?
Options:

, w Learnand enjoy



> « Look around
=z % Environmental science

4 % Nature education

Question Number : 167 Question Id : 16794318742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 16794318743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mug and jug model of learning process means:
Options:

, = Preparing mug and Jug

> % Using mug and jug

5  Knowledge poring like jug and receiving like mug

, w Drawing mug and jug

Question Number : 168 Question Id : 16794318743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 16794318744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The main objective of *“HPPI’ is:

Options:

» Development of secondary education

e o

-~ % Development of primary education

- » Development of vocational education

4  Development of education in children

Question Number : 169 Question Id ;: 16794318744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id : 16794318745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“Constitution under the §3rd Amendment, 20007 is stated that:

Options:

, = Right higher education



- w Rightlive

- » Right to study in any school of India

4 « Right to Education

Question Number : 170 Question Id : 16794318745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question Id ;: 16794318746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Communication, language and creative expression can be developed in children by including which of these in the
curriculum?

Options:
1 % Mathematics

- % Social sciences
= « Dramatics

4 = English

Question Number : 171 Question Id : 16794318746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 16794318747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

One of the practical ways of inculcating interest in art in children is by:
Options:

, = Taking them to concerts

-  Inviting talented parents as guest visitors

- » Organising art competitions

4 = Organizing formal art classes

Question Number : 172 Question 1d : 16794318747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question Id : 16794318748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of these art forms is not an example of non-verbal art forms?
Options:

1 % Drama



- u Folksongs

= « Folk dance

4 ® Western classical songs

Question Number : 173 Question Id : 16794318748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question 1d : 16794318749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Important values about the environment and its conservation through hands on activities can be achieved by including
which of these subjects into the curriculum?

Options:
1 # Science

- % Social sciences
- % Environmental science

4  Gardening

Question Number : 174 Question Id : 16794318749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 16794318750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Gardening has high potential of developing which of these personality aspects other than progress in academics?
Options:

; = Developing team spirit

- w Developing individuality

5  Developing healthy eating habits

4 = Developing social skills

Question Number : 175 Question Id : 16794318750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 16794318751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the social skills are developed through gardening activities?
Options:

1 « Collaboration



> #% Self esteem
% % Work satisfaction

4 % Confidence

Question Number : 176 Question Id : 16794318751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question Id : 16794318752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the general behavior of adolescents?

Options:
1 % Well behaved and confident

» # Sense of responsibility

-  Erratic, unstable and unpredictable

4 % Studious and hard working

Question Number : 177 Question Id : 16794318752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 16794318753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What does NACO, UNICEF and NCERT include in sex education?

Options:

, « Information about conception, contraception and sexually transmitted diseases

> » Cognitive input about our growth and functions

- » Emotional changes in youngsters

4 = Discussion about academic performance

Question Number : 178 Question Id : 16794318753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 16794318754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What are the cognitive development of adolescents?
Options:

, = Body proportion



-  Problem solving and decision making

- = Sexual changes

, = Increase in motor performance

Question Number : 179 Question Id : 16794318754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 16794318755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does Panchatantra stories in India depict?

Options:
, = Has important lesson in academics

- w Has important lessons in sex education

- % Has important lessons in gender equality

4 « Has important lessons in life skill enhancement

Question Number : 180 Question Id : 16794318755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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subject Related

Group Number : 10
Group Id: 167943703
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 167943768

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 1679431191
Question Shuffling Allowed : Yes

Question Number : 181 Question Id ;: 16794318756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the meaning of moral consciousness in adolescents?
Options:
, = organize their thoughts and activities in conformity with the ideal of the hero



- u enriches and transforms experience and contributes to artistic appreciation and production

5  cannot tolerate immoral or illegal activities

q #
develop faith in their own capability of doing things and demand self-respect from the elder members of the society

Question Number : 181 Question Id : 16794318756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 16794318757 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the major problem in the transition of childhood to adolescent?
Options:

; = Mostof them do not find much change in themselves

> # Are stressed with academics and result

- » Have psychological problems

4 v

Some react to physical changes with pleasure or excitement and some others experience shame, disgust, confusions,
anxiety and guilt

Question Number : 182 Question Id ;: 16794318757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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From which age Health education should be given?
Options:

,  From preprimary level

-~ % From primary level

- % Fromupper primary age

4 = From lower primary age
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What is the aim of physical training for students?
Options:
1 % To follow the time table

- # Tomake them strong

5  Tomake them physically and mentally healthy

4 = Todevelop a habit of exercise among them
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How will you help to remove technology addiction among students?
Options:

, « Plan ground activities and games for students

> u Take discussion on disadvantages of technology addiction

- = Conduct workshop on smart use of technology

4 # Discussion in PTA
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What medical facilities are required for School?

Options:
1 # School counsellor and a doctor

> o First aid kit

- u Fire protection equipment’s

, = Disaster management equipment’s
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If a student has cut his finger while work culture class as a class teacher what will you do?
Options:
; = Scold the work culture teacher for not paying attention

> = Scolding the student for not being careful

s Do afirst aid and contact the parents immediately

4 = Taking the student to the doctor
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What is required for good health of students in classroom?
Options:

, « Good Infrastructure facilities and healthy school environment

> % Trained staff and counselors

- = Doctor’s clinic in the campus

4 # Workshops on health education
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Decorating at the time of festivals and events- This community work is considered as a part of this education.

Options:
1 # School education

> « Work education
= % Vocational education

4 # College education

Question Number : 189 Question Id ;: 16794318764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et dR Teat & §AT FAEE - $H AT & FA F FH [T H GEAT AT AT 2

Options:

| w TEegTerT v
o o Y T
5 ® SO foreT

4 % TresT T e

Question Number : 190 Question Id : 16794318765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



What is the use of project method?
Options:
, = Gives good experience

-~ = Gives Life experience

=  Gives Work experience

4 = Gives life Jong experience
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Doll with match box head is related to the following work:

Options:
1 % Commercial work

> % Financial work

- = Physical work

4  Activity in work education
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Developing professional thinking and discourse, based on situated pedagogic issues and experiences is called as the
following way:

Options:
| % Experience of the teachers

-  Reflexivity of the teachers

2 ® Capability of the teachers

4 % Professionalism of the teachers
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“Activities to enhance professional career growth.” Is called like this:

Options:
1 % Professionalism

- u Professional growth

-  Professional development

4 % Profession
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‘School is a miniature of a society’- What it means?
Options:

, « School should follow the culture of the society

> % Schoolis for community

- » Community is for school

4 = Schoolis for education of the community
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‘Chaduvula Panduga’~ This programme is launched by the following government.

Options:
1 % Karnataka

- % Andhra Pradesh

5  lelangana

4 % Tamilnadu
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Which of the following started by Rajasthan government to tackle the problem of teachers absenteeism?

Options:
;. ® SSA

> % DPEP

-  Karmi Project

4 = Inservice project
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Peer teaching technique is used for the following:

Options:
; % To School drop outs

> % To School toppers

z « To the slow learners

4 % To school friends
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The aim of ‘Saarthi’ programme in child education is meant for this cause:

Options:
, = For parents development

-  Iransforming Parents’ Involvement in their Child’s Development

- » Educating the parents

4 = Providing literacy for the parents in Rural areas
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This was launched to enhance access to secondary Education and to improve its quality in 2009.

Options:
1 % SSA

5 « RMSA

- » Mid-day meals

4 % NCTE
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LPG stands for:

Options:

LW Liberalisation. Privatization and Globalisation model

» = Liquid Petroleum Gas model

5 » Liberation, Progression and Globalization

4 % Liberal views. Global wars and Privatization
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